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ARITHMETIC PROGRESSION

Practice Set 3 1

1. Which of the following squences are AP.? If they are AP. find the
common difference.

2,4,6,8,..

° Watch Video Solution

2. Which of the following sequences is an AP.? If they are AP, find the

7
iff 2, =3, —...
common difference. 2, 535



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OD4ifeFuTdlm
https://dl.doubtnut.com/l/_rxFQSDOb8yJI

I & Watch Video Solution I

3. Which of the following squences are AP.? If they are AP. find the
common difference

-10, -6, -2, 2,...

° Watch Video Solution

4. Which of the following seqences are A. P.? If they are A. P. find the
common difference.

0.3,0.33,0.333,......

° Watch Video Solution

5. Which of the following seqences are A. P.? If they are A. P. find the
common difference.

0, —4, — 8 — 12.....

° Watch Video Solution



https://dl.doubtnut.com/l/_rxFQSDOb8yJI
https://dl.doubtnut.com/l/_XvCo2rC17zdu
https://dl.doubtnut.com/l/_e3ur9JCmQDGa
https://dl.doubtnut.com/l/_SFMqjKFpQ3Ym

6. Which of the following squences are AP.? If they are AP. find the

common difference

1 1 1
5, 5, E,uo

° Watch Video Solution

7. Which of the following squences are AP.? If they are AP. find the

common difference

33+4/2,3+22,3+3/3, ..

° Watch Video Solution

8. Which of the following squences are AP.? If they are AP. find the
common difference

127,132,137, ...

° Watch Video Solution



https://dl.doubtnut.com/l/_SFMqjKFpQ3Ym
https://dl.doubtnut.com/l/_CQ6kzYqWivVX
https://dl.doubtnut.com/l/_NBar4dw0gXTO
https://dl.doubtnut.com/l/_2jRDoIOGEpFF

9. Write an A.P. whose first term is a and common difference is d in each
of the following:

a=d,d=5

° Watch Video Solution

10. Write an A.P. whose first term is a and common difference is d in each
of the following:

a= —3,d=0

° Watch Video Solution

11. Write an A.P. whose first term is a and common difference is d in each
of the following:

1
a = —7,d:§7§.e.0.5

° Watch Video Solution



https://dl.doubtnut.com/l/_2jRDoIOGEpFF
https://dl.doubtnut.com/l/_3NyXVxJ2S19R
https://dl.doubtnut.com/l/_wCg6RlrqsCmT
https://dl.doubtnut.com/l/_BANEEiRlCOv1
https://dl.doubtnut.com/l/_QKWOa6oYatKw

12. Write an A.P. whose first term is a and common difference is d in each
of the following:

a= —1.25d=3.

° Watch Video Solution

13. Write an A.P. whose first term is a and common difference is d in each

of the following:

° Watch Video Solution

14. Write an A.P. whose first term is a and common difference is d in each
of the following:

a= —19,d= —4.

° Watch Video Solution



https://dl.doubtnut.com/l/_QKWOa6oYatKw
https://dl.doubtnut.com/l/_bAZkAze27jrQ
https://dl.doubtnut.com/l/_x1H0CvaGwHGt
https://dl.doubtnut.com/l/_z7nHerZvcT6Q

15. Find the first term and common difference for each of the A.P.

51,-3,-7

° Watch Video Solution

16. Find the first term and common difference for each of the A.P.

0.6,0.9,1.2,1.5,.....

° Watch Video Solution

17. Find the first term and common difference for each of the A.P.

127,135,143,151,....

° Watch Video Solution

. Find the first term and common difference for each of the A.P.

Pl>|'—‘ o

5 7
47 47

phloa

° Watch Video Solution



https://dl.doubtnut.com/l/_z7nHerZvcT6Q
https://dl.doubtnut.com/l/_h1sMXkOnUkxH
https://dl.doubtnut.com/l/_5JHxqM1pMEtd
https://dl.doubtnut.com/l/_4kPyEy55rxVF

Practice Set 3 2

1. Complete the following activities.

Write the correct number in the given boxes from the following A.P.
1,8, 15, 22,.....

Herea = [, t; = U, ty = U, t3 = U,...
t-tu=0-0=10

ts—to=0 -0 =0 -.d= 01

° Watch Video Solution

2. Write the correct number in the given boxes from the following A.P.
3,6,9,12,.......

Here

tih=0,to=U,ts= U,y = U, te—t1 = U,ts—ta =01 ..d= 01

° Watch Video Solution



https://dl.doubtnut.com/l/_4kPyEy55rxVF
https://dl.doubtnut.com/l/_QlOVfabwRuyx
https://dl.doubtnut.com/l/_BhL5rCUxpA7T

3. Write the correct number in the given boxes from the following A.P.
-3, —8, —13, —18,.
Here,

tlz D,t2: D,tgz D,t4: D,tz—tlz D,tg—tgz Ol C.a = ]

° Watch Video Solution

4. Write the correct number in the given boxes from the following A.P.

70, 60, 50, 40,.......

Here,t; = D,tgz D,tgz e o= D,d: L

° Watch Video Solution

5. Decide whether following sequence is an AP, if so find 20" term of the
progression.

-12,-5,2,9,16,23,30, ...

° Watch Video Solution



https://dl.doubtnut.com/l/_db74mfyxUhu7
https://dl.doubtnut.com/l/_sP9cZVj3OFOn
https://dl.doubtnut.com/l/_5qGtHbdoDdLz

6. Given Arithmetic Progression 12,16,20,24, ... Find the 24" term of this

progression.

o Watch Video Solution

7.Find the 19th term of the following A.P.:

7,13, 19, 25, ....

o Watch Video Solution

8. Find the 27th term of the following A.P.

9,4, —1, — 6, —11,...

o Watch Video Solution

9. Find how many three digit natural numvers are divisible by 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_9gHale7qwJWq
https://dl.doubtnut.com/l/_4TRALL4YWC7c
https://dl.doubtnut.com/l/_xphdeK6hZIhL
https://dl.doubtnut.com/l/_FZ1XpSZgHTtZ

10. The 11** term and the 21" term of an AP. are 16 and 29 respectively,

then find the 41" term of that A.P.

o Watch Video Solution

11.11,8,5,2, ... In this A.P. which term is number -151?

o Watch Video Solution

12.In the natural numbers from 10 to 250, how many are divisible by 4?

o Watch Video Solution

13. In an AP. 17" term is 7 more than 10 term. Find the common

difference?

o Watch Video Solution



https://dl.doubtnut.com/l/_FZ1XpSZgHTtZ
https://dl.doubtnut.com/l/_bIwP7dawlZMq
https://dl.doubtnut.com/l/_KYoYJZOfcfFT
https://dl.doubtnut.com/l/_neBh56HIJUNK
https://dl.doubtnut.com/l/_BheBWd8Iad8M

Practice Set 3 3

1. First term and common difference of an A.P. are 6 and 3 respectively :

Find 527

° Watch Video Solution

2. Find the sum of first 123 even natural number.

° Watch Video Solution

3. Find the sum of all even nhumbers between 1 and 350.

° Watch Video Solution

4.1n an AP. 19th term is 52 and 38th term is 128. Find the sum of first 56

terms.


https://dl.doubtnut.com/l/_BheBWd8Iad8M
https://dl.doubtnut.com/l/_FEoq23uOy1XH
https://dl.doubtnut.com/l/_KP38us6afkFr
https://dl.doubtnut.com/l/_AaTVuLgoGxxD
https://dl.doubtnut.com/l/_nFZrawVxdcjU

° Watch Video Solution

5. Find the sum of all numbers from 1to 140 which are divisible by 4.

° Watch Video Solution

6. Sum of first 55 terms in an A.P. is 3300. Find its 28" term.

° Watch Video Solution

7.1n an A.P. sum of three consecutive terms is 27 and their product is 504,
find the terms. (Assume that three consecutive terms in AP. are a -d, a,

a+d)

° Watch Video Solution



https://dl.doubtnut.com/l/_nFZrawVxdcjU
https://dl.doubtnut.com/l/_mFDB5HgtNHwF
https://dl.doubtnut.com/l/_DyyBWcqxcbQL
https://dl.doubtnut.com/l/_jAV5hOGkTYph

8. Find four consecutive terms in an AP. whose sum is 12 and the sum of
the 3rd and 4th terms is 14. ( Assume the four consecutive terms in A.P.

area —d,a,a + d,a = 2d)

° Watch Video Solution

9. If the 9th term of an A.P. is zero , then show that 29th term is twice the

19th term.

° Watch Video Solution

Practice Set 3 4

1.0n 1st Jan. 2016, Sanika decides to save Rs. 10, RS. 11 on second day, Rs.

12 on third day. If she decides to save like this, then on 31st Dec. 2016 what

would be her total savings?

° Watch Video Solution



https://dl.doubtnut.com/l/_cQeRCoKJG5xh
https://dl.doubtnut.com/l/_KWBiJiw0YpdI
https://dl.doubtnut.com/l/_5berizZoW25j

2. A man Borrows Rs. 8000 and agrees to repay with a total interest of Rs.
1360 in 12 monthly instalments. Each instalment being less than the
preceding one by Rs. 40. Find the amount of the first and last

instalments.

o Watch Video Solution

3. Sachin invested Rs. 5000 for the 1st year, Rs. 7000 for the 2nd year, Rs.
9000 in the 3rd year in National Savings Certificate scheme. How much

amount did he invest in 12 yearsgt

o Watch Video Solution

4. There is an auditorium with 27 rows of seats. There are seats in the first
row, 22 seats in the second row, 24 seats in the third row and so on. Find
the number of seats in 15™ row and also find how many total seats are

there in the auditorium?



https://dl.doubtnut.com/l/_5berizZoW25j
https://dl.doubtnut.com/l/_tnbD098fPqf5
https://dl.doubtnut.com/l/_xhmFLPxl8tKT
https://dl.doubtnut.com/l/_BT4Mm6yrqhot

| ° Watch Video Solution

5. Kargil's temperature was recorded in a week from Monday to Saturday.
All readings were in AP. The sum of temperatures of Monday and
Saturday was 50 C more than sum of temeratures of Tuesday and
Saturday. If temperature of Wednesday was —300 C Then find the

temperature on the other five days.

° Watch Video Solution

6. On the world environment day tree plantation programme was
arranged on a land which is triangular in shape. Trees are planted such
that in the first row there is one tree, in the second row there are two
tree, in the third row three trees and so on. Find the total number of

trees in 25 rows.

° Watch Video Solution



https://dl.doubtnut.com/l/_BT4Mm6yrqhot
https://dl.doubtnut.com/l/_AUhHnZGPCBZ5
https://dl.doubtnut.com/l/_lUZ3gHK9K3rO

Practice Set 3 5

1. The sequence -10,-6,-2,2,..........

A.is an A.P. Reason d=-16

B.Is an AP.respond d=4

C.is an A.P. Reason d =4

D. is not an A.P.

Answer: b

° Watch Video Solution

2. First four terms of an AP. are ... , Whose first term is -2 and common

difference is -2.

A —2,0,2,4

B.—2,4, — 8,16


https://dl.doubtnut.com/l/_XjttS5RFvVn2
https://dl.doubtnut.com/l/_BFRiBgnIJP5w

C.—2, —4, —6, — 8

D.—2, —4, —8, — 16

Answer: c

o Watch Video Solution

3. What is the sum of the first 30 natural numbers?

A. 464

B. 465

C.462

D. 461

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_BFRiBgnIJP5w
https://dl.doubtnut.com/l/_SLcgT7hd1yPK

4.For an given AP,t; =4,d = —4thena=

A.6

B.7

C.20

D. 28

Answer: d

° Watch Video Solution

5.For an given AP,a=35,d=0,n=101thent, = ...

A.O

B.3.5

C.103.5

D. 104.5


https://dl.doubtnut.com/l/_9abSXsbhO3Zq
https://dl.doubtnut.com/l/_Ya6aQVraPvtJ

Answer: B

° Watch Video Solution

6.1n an AP, first two terms are -3,4 then 21% term is ........

A —143
B. 143
C.137

D.17

Answer: C

° Watch Video Solution

7.1f foran AP, d = 5, thent;g —ti3=....

A5


https://dl.doubtnut.com/l/_Ya6aQVraPvtJ
https://dl.doubtnut.com/l/_psXBK5ObFwed
https://dl.doubtnut.com/l/_qhT7aKlWPPnk

B. 20

C. 25

D.30

Answer: ¢

o Watch Video Solution

8. Sum of first five multiples of 3 is ........

A. 45

B. 55

D.75

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qhT7aKlWPPnk
https://dl.doubtnut.com/l/_LQj2jxCO3a4g
https://dl.doubtnut.com/l/_po5xCCjvscVc

D. 125

Answer: A

o Watch Video Solution

10.1n an AP, 1% terms is 1 and the last term is 20. The sum of all terms is

399 then n = ...

A 42

B.38

C. 21

D.19


https://dl.doubtnut.com/l/_po5xCCjvscVc
https://dl.doubtnut.com/l/_fkV2vceaVCgl

Answer: b

° Watch Video Solution

11. Find the fourth term from the end in an A.P. -11, -8,-5,..49

o Watch Video Solution

12. In an AP. the 10th term is 46. The sun of the 5th and 7th terms is 52,

Find the AP.

o Watch Video Solution

13. The AP. in which 4*term -15 and 9" term is -30. Find the sum of first 10

numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_fkV2vceaVCgl
https://dl.doubtnut.com/l/_9TVv3NhknKWY
https://dl.doubtnut.com/l/_7T0MEg01txA3
https://dl.doubtnut.com/l/_GYFkEKOi3X3E
https://dl.doubtnut.com/l/_zdCTjs7yoB2z

14. Two AP's are given 9,7,5.and 24,21]8,..If nterm of both the

progressions are equal then find the value of n and n' term

o Watch Video Solution

15. If sum of the 3rd and the 8th terms of an AP is 7 and the sum of the

7th and 14th terms is -3, then find the 10th term.

° Watch Video Solution

16.In an A.P. the first term is -5 and last term is 45. If sum of all numbers in
the AP. is 120, then how many terms are there? What is the common

difference?

o Watch Video Solution

17. Sum of 1to n natural numbers is 36, then find the value of n.

o Watch Video Solution



https://dl.doubtnut.com/l/_zdCTjs7yoB2z
https://dl.doubtnut.com/l/_jNnmH4RDB2U7
https://dl.doubtnut.com/l/_ds1TSy5WuuN5
https://dl.doubtnut.com/l/_nJW2lYuGPvwK

18. Divide 207 in three parts , such that all parts are in A. P. and product of

two smaller parts will be 4623.

° Watch Video Solution

19. There are 37 terms in an AP, the sum of three terms placed exctly at

the middle is 225 and the sum of last three is 429. Write the A.P.

° Watch Video Solution

20.If the first term of an A.P.is a, the second term of b and the last term c,

(a+c)(b+c— 2a)

then show that the sum of the terms of the AP.is
2(b—a)

° Watch Video Solution



https://dl.doubtnut.com/l/_nJW2lYuGPvwK
https://dl.doubtnut.com/l/_tqp5Z8uLf3Q8
https://dl.doubtnut.com/l/_doFjJRBJDgfI
https://dl.doubtnut.com/l/_wciTnKJ6a6Yp

21. The sum of first P terms of an AP. is equal to the sum of its first Q

terms. Show that the sum of its first (P+Q) terms is zero.

° Watch Video Solution

22. If m times the mth term of an AP. is equal to n times its nth term ,

them show that the (m + n)th term of the AP.is zero.

° Watch Video Solution

23. Rs. 1000 is deposited at 10 per cent simple interest. Check if the
interest amount at the end of every year is in AP. If this is AP. then find
amount of the interest after 20 years. For this complete the following

activity.

° Watch Video Solution

Multiple Choice Questions



https://dl.doubtnut.com/l/_eEGyPGyjmt1B
https://dl.doubtnut.com/l/_YfaPgoj2VRbp
https://dl.doubtnut.com/l/_umESXhMvBLjc

1. Which of the following is not an AP?

A. 2,4,6,8,10,...

B.—17, — 12, — 7, — 2, 3y

C.1.5,4, 6.5, 9.

D. 1,4,9,16,25,........

Answer: D

° Watch Video Solution

2. The first five terms of the A.P. with a =6 and d=-3 are

A.6,9,12,15,18

B.—6, —9, —12, — 15, — 18

C.6,3,0,3,6

D.6,3, —3, —6, — 9


https://dl.doubtnut.com/l/_UJgntWxB9UBB
https://dl.doubtnut.com/l/_YCNYgOdcMXEN

Answer: ¢

° Watch Video Solution

3. For the AP. 916,23, 30,37,.....

A. a=1,d=9

B. a=1,d=7

C.a=9d=9

D. a=9, d=7

Answer: d

° Watch Video Solution

4.For an AP. if d=............ , then sequence is a constant sequence.

A.O


https://dl.doubtnut.com/l/_YCNYgOdcMXEN
https://dl.doubtnut.com/l/_9mU2PBXntMEo
https://dl.doubtnut.com/l/_brnQRpLNATxt

B.1

D.2

Answer: A

o Watch Video Solution

5.1fa = —g,d = — 7,then t19=

A 117

B. 135

C.—117

D. —135

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_brnQRpLNATxt
https://dl.doubtnut.com/l/_0Gz3ItA1Zco4
https://dl.doubtnut.com/l/_QaC0BHTlsjEx

6.149 is the............. Term of the given AP. 5,11,17, 23, 29,..........

A 24

B. 25

C.30

D. 31

Answer: B

° Watch Video Solution

7.For any given AP, if t3yp = 25 , then

A. a-d=0

B. a+d=0

C.a-2d=0

D. a+2d=0


https://dl.doubtnut.com/l/_QaC0BHTlsjEx
https://dl.doubtnut.com/l/_Ha3xfAIDztqV

Answer: a

° Watch Video Solution

814+2+3+4+............+100 =

A. 5000
B. 5050
C. 5500

D. 5555

Answer: B

° Watch Video Solution

9. If the first and last term of an AP. are 18 and 82 respectively, then

S5 =


https://dl.doubtnut.com/l/_Ha3xfAIDztqV
https://dl.doubtnut.com/l/_21Xx9gzu3QmA
https://dl.doubtnut.com/l/_w3CHs4Pg1ODS

A. 2500

B. 1250

C. 800

D. 625

Answer: B

o Watch Video Solution

10. For an A.P. if the first term is 8 and the common difference is 8, then

Sn=
A2n(n —1)
B.4n(n — 1)
C.2n(n — 1)
D.4n(n + 1)

Answer: d



https://dl.doubtnut.com/l/_w3CHs4Pg1ODS
https://dl.doubtnut.com/l/_PBG88CFQA40e

| ° Watch Video Solution

11. The sum of first 20 even natural numbers is

A.420

B. 200

C. 210

D. 400

Answer: a

o Watch Video Solution

Based On Practice Set 3 1

1. Some sequences are given below. For every sequence write the next

three terms.

(i) 100, 70, 40, 10,.....


https://dl.doubtnut.com/l/_PBG88CFQA40e
https://dl.doubtnut.com/l/_kuT8LD5IJvra
https://dl.doubtnut.com/l/_Y4Ly3qCVkcGX

(i1) -7, -4, -1,2,......

(i1i) 4,4,4

° Watch Video Solution

2. Which of the following sequences are arithmetic progressions? Justify.

(i) 2,6,10,14,.........

(i1) 24,2118,15,......

..........

(vii) 1, 3, 6, 10,

(viii) 1, 4, 7, 10,

° Watch Video Solution

3. Check whether the sequence 7,12, 17, 22,

difference.

...........

Is an A.P, find the common


https://dl.doubtnut.com/l/_Y4Ly3qCVkcGX
https://dl.doubtnut.com/l/_wv7gcjeDhGmN
https://dl.doubtnut.com/l/_BcFx10jOQUbs

° Watch Video Solution

4. Which of the following sequences are AP.? If it is an AP, find next two
terms.

(i) 5,12,19,26........

(i) 2, —2, —6, — 10....

(i) 1,1,2,2,3, 3.

(,)31 1
iv R

° Watch Video Solution

5. Find the first term and common difference for each of the A.P.

(i) —1.25, — 1.50, — 1.75, — 2.

(iii) 53, 38, 23, 8,

° Watch Video Solution



https://dl.doubtnut.com/l/_BcFx10jOQUbs
https://dl.doubtnut.com/l/_X4cj35aUEIjJ
https://dl.doubtnut.com/l/_C2WmbZjYtryw
https://dl.doubtnut.com/l/_4iM63K5GCOQp

6. If for an AP. the first term is 11 and the common difference is (-2), then

find first three terms of A.P.

° Watch Video Solution

7.Find the first four terms in an A.P, when a=3 and d=4.

° Watch Video Solution

8. The first term a and common difference d are given. Find first four
terms of AP.
(Ja= —3,d=4,

(i) @ = 200,d = 7

o o
(ii)a= —1,d = — 5"

(Vya=8,d= —5

° Watch Video Solution

Based On Practice Set 3 2



https://dl.doubtnut.com/l/_4iM63K5GCOQp
https://dl.doubtnut.com/l/_2rvWYZakJ0jP
https://dl.doubtnut.com/l/_rnWl9JP2hNVY

1.Find t,, for an AP.1,7,13, 19,.........

° Watch Video Solution

2.Find t,, for following A.P,, and then find 30th term of A.P.

° Watch Video Solution

3.Find the
(i) 10th term of the AP. 4,9,14,.......

(ii) 7th term of the A.P. 6,10,14,...........

° Watch Video Solution

4. Find the 18th term of the AP. 7,13, 19, 25, ....



https://dl.doubtnut.com/l/_UOdyvxJiLGmj
https://dl.doubtnut.com/l/_hcQThkIAmAbW
https://dl.doubtnut.com/l/_j4CylT2YSEUx
https://dl.doubtnut.com/l/_wKHHsBdxTWFe

| ' Vvaticn vVideo solution

5. Write the 25" term of an A.P. 12, 16, 20, 24, ......... )

° Watch Video Solution

6. Which term of the following A.P. is 5607

2,11, 20, 29,......

° View Text Solution

7.Find n if the nth term of the following A.P.is 66:3, 6,9,12........

° View Text Solution

8. How many terms are there in the A.P. 201, 208, 215, ....... , 3697

° Watch Video Solution



https://dl.doubtnut.com/l/_wKHHsBdxTWFe
https://dl.doubtnut.com/l/_9LNnNr99ti90
https://dl.doubtnut.com/l/_ZcdCRRhd7nQM
https://dl.doubtnut.com/l/_LzsPVrKhPGIt
https://dl.doubtnut.com/l/_7eVF5V4QMw37

9. How many two digit numbers are divisible by 4?

° Watch Video Solution

10. Check whether 301 is a term of the list of numbers 5, 11,17, 23, ...

° Watch Video Solution

11.1s 5,8,11,14,.....an AP.? If so then what will be the 100th term?

Check whether 92 is in this AP.? Is number 61 in this AP.?

° Watch Video Solution

12.If the 5th and 12th terms of an AP. are 14 and 35 respectively, find the

first term and the common difference.

° Watch Video Solution



https://dl.doubtnut.com/l/_OBz9ql9oyD0y
https://dl.doubtnut.com/l/_RYeCiH31zzSn
https://dl.doubtnut.com/l/_AxIa4vGEzaTq
https://dl.doubtnut.com/l/_j7cy5C6yxbnW
https://dl.doubtnut.com/l/_XMje0X6Qm8jO

13.Foran AP.ift, = 20 and t; = 32, find a,d and ¢,,.

° Watch Video Solution

14. The 11*® term and the 21°° term of an AP. are 16 and 29 respectively
then find:

a. The first term and common difference.

b. The 34" term.

c.‘n’such that ¢,, = 55.

° Watch Video Solution

15. The 10th term and the 18th term of an AP. are 25 and 41 respectively,

then find 38th term of that A.P. Similarly if nth term is 99, find the value of

° Watch Video Solution



https://dl.doubtnut.com/l/_XMje0X6Qm8jO
https://dl.doubtnut.com/l/_axwWRHvHbEbO
https://dl.doubtnut.com/l/_Q2L5lmdE9HF2
https://dl.doubtnut.com/l/_raB5ZUxZn6Qf

16. The sum of the 3rd and 7th terms of an AP. is 54 and the sum of the

5th and 11th terms is 84. Find the A.P.

o Watch Video Solution

Based On Practice Set 3 3

1.If for an A.P.

(I) a=6, d=3, find SlO

(ia = 6,d = 3,find S

° Watch Video Solution

2.Find the sum of first 100 terms of A.P. 14, 16, 18,........

° Watch Video Solution



https://dl.doubtnut.com/l/_raB5ZUxZn6Qf
https://dl.doubtnut.com/l/_8GdNHDWXXV4w
https://dl.doubtnut.com/l/_XsBjQ4pNXsHh

3. Find the sum of the first n terms of an A.P.

1,4,7,10,....... Also, find Sy,.

o Watch Video Solution

4.If for an AP, tg = 36, find Ss.

o Watch Video Solution

5.1f for an AP. S31 = 186,ﬁnd t16-

o Watch Video Solution

6. If the second term and the fourth terms of an AP. are 12 and 20

respectively, then find the sum of first 25 terms:

o Watch Video Solution



https://dl.doubtnut.com/l/_rEU4fd7ZRNHb
https://dl.doubtnut.com/l/_uHWp6FA1CJye
https://dl.doubtnut.com/l/_NkvGBGcY00Jd
https://dl.doubtnut.com/l/_Ha9F6eSndTtY
https://dl.doubtnut.com/l/_s5vUKCOGtGvk

7. Obtain the sum of the first 56 terms of an AP. whose 19th and 38th

terms are 52 and 148 respectively.

o Watch Video Solution

8. Find the sum of first n natural numbers.

o Watch Video Solution

9. Find the sum of first n even natural numbers.

o Watch Video Solution

10. Write the sum of first n odd natural numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_s5vUKCOGtGvk
https://dl.doubtnut.com/l/_C7b9Koy4OlRb
https://dl.doubtnut.com/l/_NA0pVJP3SuuA
https://dl.doubtnut.com/l/_dbJMGb4xC3NI

11. Find the sum of all numbers from 50 to 350 which are divisible by 4.

Also find 15t term.

° Watch Video Solution

12. Find the sum of all numbers from 50 to 350 which are divisible by 6.

Hence find the 15" term of that A.P.

° Watch Video Solution

13. Find the sum of all numbers from 50 to 250 which are divisible by 6

and find t13.

° Watch Video Solution

14. Find three consecutive terms in an AP, whose sum is 21 and their

product is 315.

| e |


https://dl.doubtnut.com/l/_RM1IjdlcKk78
https://dl.doubtnut.com/l/_Sojf4uU3cay4
https://dl.doubtnut.com/l/_cTC5SYfiZe3s
https://dl.doubtnut.com/l/_ZJ1XMK9ubXvJ

l & Watch Video Solution J

15. Find four consecutive term in an A.P. such that the sum is -54 and the

sum of the first and the third terms is — 30.

° Watch Video Solution

Based On Practice Set 3 4

1. There is an auditorium with 35 rows of seats. There are 20 seats in the

first row, 22 seats in the second row, 24 seats in the third row and so on.

Find the number of seats in the twenty second row .

° Watch Video Solution

2. A village has 4000 literate people in the year 2010 and this number
increases by 400 per year. How many literate people will be there till year

20207


https://dl.doubtnut.com/l/_ZJ1XMK9ubXvJ
https://dl.doubtnut.com/l/_21MqkuQy4BdM
https://dl.doubtnut.com/l/_SCvuB44A8Pl6
https://dl.doubtnut.com/l/_KoGKgsyjy2OG

o Watch Video Solution

3.In the year 2015, Mrs. Shaikh got a job with salary Rs. 1,80, 000 per year.
Her employer agreed to give Rs 10,000 per year as increment. Then in how

many years will her annual salary be Rs 2,50,000?

o Watch Video Solution

4. A man saves Rs 16,500 in ten years. In each year after the first he saved
Rs. 100 more than he did in the preceding year. How much did he save in

the first year?

o View Text Solution

5.Babubhai borrows Rs. 4,000 and agrees to repay with a total interest of
Rs. 500 in 10 instalments, each instalment being less than the preceding

instalment by Rs. 10. What should be the first and the last instalment?

. l


https://dl.doubtnut.com/l/_KoGKgsyjy2OG
https://dl.doubtnut.com/l/_oBnhDm5LJ8I9
https://dl.doubtnut.com/l/_lPvGmE2ToQkh
https://dl.doubtnut.com/l/_4NP1Cu4navq3

l @ yvatch video Solution ]

6. Anvar saves some amount every month. In first three months he saves
Rs 200, Rs 250 and Rs 300 respectively. In which month will he save Rs.

10007 Find the totla amount saved.

o Watch Video Solution

7. A manufacturer of radio sets produced 600 units in the third year and
700 units in the seventh year. Assuming that the product increases
uniformly by a fixed number every year, find i. the production in the first

year ii. the total product in 7 years and iii. the product in the 10th year.

o Watch Video Solution

8. Ajay sharma repays the borrowed amount of Rs 3,25,000 by paying Rs
30500 in the first month and then decreases the payment by Rs 1500

every month. How long will it take to clear his amount?



https://dl.doubtnut.com/l/_4NP1Cu4navq3
https://dl.doubtnut.com/l/_SkkduUqy8gKD
https://dl.doubtnut.com/l/_IOblIGpAWfX4
https://dl.doubtnut.com/l/_TuZP7JIjZ9WL

| ° Watch Video Solution

9.In winter, the temperature at a hill station from Monday to Friday is in
A.P. The sum of the tempratrues of Monday, Tuesday and Wednesday is
zero and the sum of the temperatures of Thursday and Friday is 15. Find

the temperature of each of the five days.

° Watch Video Solution

Chapter Assessment

1. Which of the following sequence are Arithmetice progression ? If it is

an A.P. then write common difference.

—10, — 13, — 16, — 19, ...

A.is an A.P. Reason d=3

B.is an A.P. Reason d=-3

C.is an A.P. Reason d=4


https://dl.doubtnut.com/l/_TuZP7JIjZ9WL
https://dl.doubtnut.com/l/_JFsyCxCCiHLd
https://dl.doubtnut.com/l/_g12oWyOUaX0D

D.is not an A.P.

Answer: b

° Watch Video Solution

2.Inan AP, if t;3 — t14 = 32,then d=

A 4

Answer: ¢

o Watch Video Solution

3. Which term of the AP 21, 42, 63, 84,..Is 210?


https://dl.doubtnut.com/l/_g12oWyOUaX0D
https://dl.doubtnut.com/l/_PjbJsWKEgMuG
https://dl.doubtnut.com/l/_Qf7BYCwyAsum

A.10th

B. 11th

C.12th

D. 13th

Answer: A

o Watch Video Solution

4.1n an AP.ifa=2,t, = 34, S,, = 90, then n=

A3

B.5

C.8

D.12

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Qf7BYCwyAsum
https://dl.doubtnut.com/l/_nTBReKfhcvmb

5. Solve the following questions.

(i) Check whether the sequence —3, — 1,1, 3,... Is an AP. If it is an AP,

find the common difference.

(ii) If the 7th term of an AP. is 40, then find Si3.

° Watch Video Solution

6. Complete the following activities.

Write the correct number in the given boxes from the following A.P.
1,8, 15, 22,.....

Herea = [,t; = U, ty, = O, t3 = 0O,....

ty—tp=0 -0 =0

° Watch Video Solution

7.Find the AP, if a=18 and d=-5


https://dl.doubtnut.com/l/_nTBReKfhcvmb
https://dl.doubtnut.com/l/_O3grWzyLJGF5
https://dl.doubtnut.com/l/_yK5L2X18oISo
https://dl.doubtnut.com/l/_gI6DkXgrnYfc

° Watch Video Solution

8. Find the 15th term of the AP. 21, 16,11 6..........

° Watch Video Solution

9.For an AP, find S;5 if a=4 nd d=3.

° Watch Video Solution

10. Which term of the A.P. 9,12, 15,............ is 1327

° Watch Video Solution

11. For an AP. if the 11th term is 38 and 16th term is 73, then find the 31th

term of the progression.

° View Text Solution



https://dl.doubtnut.com/l/_gI6DkXgrnYfc
https://dl.doubtnut.com/l/_M9YCWLsbrBrx
https://dl.doubtnut.com/l/_EEDdlRdMFCEe
https://dl.doubtnut.com/l/_7kgoC3wEeIY4
https://dl.doubtnut.com/l/_pTck9qqMVcWM

12. Find three consecutive terms of an A.P. whose sum is 24 and product is

312.

° Watch Video Solution

13. The fourth term of an AP is zero. Prove that the 25th term is triple its

11th term

° Watch Video Solution

14. In a flower bed, there are 23 rose plants in the first row, 21 in the
second, 19 in the third, and so on. There are 5 rose plants in the last row.

How many rows are there in the flower bed?

° Watch Video Solution



https://dl.doubtnut.com/l/_pTck9qqMVcWM
https://dl.doubtnut.com/l/_oY8bvXSYdXOe
https://dl.doubtnut.com/l/_6jcwRGKLjx8k
https://dl.doubtnut.com/l/_fXXDYDAMSTAR

15. A man set out on a cycle ride of 50km. He covers 5km in the first hour

1
and during each successive hour his speed falls by 1 km/hr. How many

hours will be take to finish his ride?

° Watch Video Solution

16. The ratio of the sums of m terms and n terms of an AP. is m?: n2.

Prove that the ratio of their mth and nth term will be (2m - 1) : (2n-1).

° Watch Video Solution

17.1s 5,8,11,14,....an A.P.? If so then what will be the 100th term?

Check whether 92 is in this AP.? Is number 61 in this AP.?

° Watch Video Solution



https://dl.doubtnut.com/l/_V7ml5yjDPc4E
https://dl.doubtnut.com/l/_Eej2H4wHnSXI
https://dl.doubtnut.com/l/_vPb1ZMvpTO5O

